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Secondary Math ll: Final Review 2017 B
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Subtract: (9t2- 5t—6)+ (£ + 2t + 10) 8-{;1— % o 5
Multiply: (x — 8)(x — 9) ')('1"‘7‘)(‘“3')( 3L & ){zf!7')(‘+72-
simplify: V600 oV

jeo- e
simplify: —7i(8 + 3)) -561 -21i° = Z1-5bk)

simplify: 4% jlox >
.m? 7
Simplify: ; i

simplify: (3x*)(=5x2) —|% x>

3 NG -
= : ol
Write in radical form: ~ x* ( W) oY \[T
i 2
simplify: d*d’d O

Simplify: 5( —3x3z72)° = 53
N

i

. Choose an equation that fits the given information. (% -4 j)’ } (5 + 2)2: 31

Circle: Center (4, -2), Radius =9

Choose an eguation that fits the given information. - - 5
Absolute Value: a = —3, Vertex (—3,—5) 5: = ‘ A l

Choose an equation that fits the given information. Line: m=-1/2, y-int=4

Period

Lj e A L
The solution of which linear inequality is graphed to the right?
a. y<-—x
b. yv>-—x
@ y<—x
d. P = —¥ a
e. None of the above ol

I
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15. Solve the following system. Give the x value of one of the solution(s) {y =x"+2x+7

6x+3=
Lbx+3= X T+2KET] g
e KP4 (X-2) %~2) (2,15)
16. Choose an equation that fits the given information. e
Parabola: a = 3, Vertex (0,—2)
; 7
y=3X"-2
5x + 4y = —12 = =2 —ik =Py =
17. Solve the following system. { * ¥ _ 2 %34 9 _ T 29 g
) (x-2y = -8) 2 2% .-th;-;——ll.g __25 e =Y
st 'l e c———— i =
( 4, I = =218 -
18. Solvefor y:  xy — 2d = 4m x4
XY= ad vH4m
Y= 2d tHm
19. Factor of x? + 4x — 12? X
(x4 LY L-2)

S <4 A D
20. Which graph below represents the solution of the equation 4x + 6y = 107? le 5 - 4% +10

a. i

L

21. What are the solutions of 3x% + 20x — 7.
X= —20 E{4q00-4a¥d . -20+22
2(%) ©
22. What is the vertex of the graph of the function y = x? + 4?

(0.4)

i
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23.

24,

25.

26.

27.

28.

29:

What are the x-intercepts of the function y = x? + 11x — 267

_ ¢ ) (13, O‘>
Y= (X3 R-2D) (2,0
What are the solutions of the equation x? = 72?
i PR
Find the axis of symmetry of the function y = —x? 4+ 8x — 12?
y\ = -3 ot
S0

The equation ¥ = (x — 5)? — 7 is in which form?
a. Intercept form
b. Standard Form

(_c. >Vertex Form

d. AOS Form

When the quadratic equation y = (x — 3)(x + 6) is written in standard form, what is the value of the
coefficient “b"?

X T =3 %4bx -18
b=3 X T3 %-18

Which value of ¢ makes the expression x? + 12x -+ ¢ a perfect square trinomial?

C=3b

Which function models the graph to the right?

a. y=(x+4)2+2

b. y=(x+2)?+4

y=(x-4)>%+2 \J " (\""'LQD

d y=((x-4)?*-2

-

30. What are the solutions of the equation x? — 4x = —15? o
x> -4y x 18 =0 x= 4EVIL-UOIS) | e TN qx oy I
ey >
e

31. What are the solutions of the equation 3x2 + 4x -7 =07? = o5 \

CX +TXx~ 1D =0
X="Y3 x=|

32. What are the solutions of the equation (x — 6)% = 4

%l =+ Y
telhite
x=8,4




Use the graph of the function f(x) to answer the following questions. For question 35 and 36:

gl ¥ 1|

B.fD=2 P ? |
| \

34. Find x when f(x) = 6

-\.9,0,%9 | il

35. Line m and n are parallel. Solve for x. i(xl }[ i /
(x + 100)° ®X+1c0 +55 = 180
< >m
X =25
< 25° \ >N
36. Given [_J ABCD. If ZACB = (6x — 24)° and £CAD = (3x + 12)°, solveforx. A B
Zx+ 12 = o x-24
20 = 3%
8 D
37. Solve for x.
2oty ps = TR2D
AL = 2%
(2x + 12)° (4x — 20)°
X= 1
38. Line m and » are parallel. Which statement is false?
a. £1and 45 are corresponding angles P 1 X2 -
b. £ 1 and < 8 are alternating exterior angles h 3 \\4 -

c. Z4and £ 6 are consecutive interior angles
)£ 3 and 25 are alternating interior angles
€. None are false
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39. A building casts a shadow 60 m long. At the same time, a pole 10 meters high casts a shadow 18 m long.
What is the height of the building?

— X o= lo X= 23,3 m
% io | O 18

6o I8

40. If the ratio of the measures of the angles in a triangle is 3:4:7, what are the measures of the angles in

the triangle? =2 ., 3w &7 = 18O o @ -
5)‘\'\""‘)( 3‘3:;‘5 ’514 )8qu

\4 ¥ =180
A =98
E
41. If p || q, solve for x. i 1';'/\6 K = & _]_-L‘i
x :
“ _ = 4¥
>q
42. Find the value of x. 10 12
b e L 12K = 200 ~\0A
X 20X % D2 200 : X 20-%
' 20
%= q Dq

43. Given the following diagram, which of the following proportions is false?

2
a ===
h, 2_4

c e
b e
e
b a
i 7 a+d

44, Solve for x. & 2 2
21 wE=vilE = &)
12 |
AENZ9T

RE Bves e L2

X
45. Solve for 6. Round to the nearest degree.

20 ‘
11 &ty = AL




46. From the top of a lighthouse 140 ft high, the angle of depression to a boat is 17°. Find the distance from
the boat to the foot of the lighthouse.

! . 70‘: Ho : . _
T e 4s7.9
1\‘7t-::\-.:::.~.. "'J(O
1‘ x — L.—-———‘ &
47. What is the value of X? 4 o\
Cos B = 12 ,
% CUL 12

537X Wwyp
g jo
cos53% T s 4D

48. At a point on the ground 25 ft. from the foot of a tree, the angle of elevation to the top of the
treeis 24° . Find the height of the tree.

X ban 24°= & SAMERD

25
49. What is the value of X?
a. 334°
b. 13°
167°
d. 83.5°

b

167°

50. What is the value of X? K

e. 96° \
@ 192° J
g. 48° L

h. 84°

51. What is the value of X?
i. 41° u 32
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k. 20.5°

. 139°
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